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COMMERCE - I

TSy - 11

1.

A ‘medium’ enterprise is one whose

investments in equipment :

(A) exceeds ¥ 25 lakhs but does not
exceed ¥ 1 crore

(B) exceeds ¥ 10 lakhs but does not
exceed ¥ 25 lakhs

(C) exceeds ¥ 1 crore but does not

exceed T 2 crore

(D) exceeds X 2 crore but does not

exceed ¥ 5 crore

Assertion (A) :

GST has been introduced to reduce the
cascading effect of taxes on the common

men.
Reason (R) :

GST removes the phenomena of
“multi-stage leVy” of indirect taxes.

Code :

(A) Both (A) and (R) are true.
(B) (A) is not true but (R) is true.
(C) (A) is true but (R) is not true.

(D) Both (A) and (R) are false.

‘T’ 3T S FEd § TS SR R =g
B

(A) T25 0@ § SW WY I 1HUS ©
sty

B) TI0EW@ A W WY I25@ 9
YR

(€ T1HUS | SW UG T2HUS ©
TR

(D) T2FUS § W W T 5 FUe ¥
CEIRED

AR (A)

GST @1, 9T T W U T HEhiEn
JuTE HH & fore 9fyg foeen )

T (R) :

GST 319s Ul & ' Igaoia o'’ e
! foran =1 T e B

He :
(A) (A) 7 (R) 3§ T

(B) (A) 3 § T (R) ¥4 &
(C) (A) ¥ W (R), ¥ & B

(D) (A) T (R) ST 71 € 1
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Assertion (A) :

The Consumer Protection Act has been
enacted to provide better protection to the
consumers.

Reason (R) :

The consumers will have the right to sue
the company for compensation.

Code :
(A) Both (A) and (R) are not true.
(B) (A) is true but (R) is not true.
(C) (A) is not true but (R) is true.

(D) (A) and (R) are true.

Which of the following is not a key feature
of the second generation reform ?

(@) Human development
(b). Empowering the poor

(c) Exploiting the knowledge based on
global economy

(d) Protecting the local industry
Code :

(A) (2) and (b)

(B) () and (0

(©) (c) alone

(D) (d) alone

AR (A)

SurerT SRare STfufem sl ® geaq
T firet, safae @ faran w7

T (R) :

Sysiteritedi w1 afayfd % fou wroet @ geen
A HT SAHR B |

FHe :
(A) (A) 3R (R) ST 318 &1
(B) (A) ¥ T I (R) 319A ¥
(©) (A) ¥ & ¥ TG (R) 9 B
(D) (A) 3R (R) T = €1

1 4 & SF-w gl did F guR & g=
Fordreran & €2

(@) wFa faw™
(b) Tl =1 worfermaRTor

() avelie Sieferawen W Menfa JH o
Sl

(d) T ST 1 |&Tm

(A) (a) ()
(B) (b) 3R (0)
(C) % (o)
(D) %9 (d)
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5.  Implicit costs arise, when : 5. TR AN 39 Bl ©

(A) There is cash inflow (A) < kg FaE &
(B) The funds are utilised (B). & M & 3UAN fehan an
(C) The funds are acquired (C) 9 iy 9T foranm s
(D) None of the above (D) ST § A FE

6. Ideal acid test ratio is : 6.  STRYIAY 3TFET TI&TT STUT 81 ® :
(A) 1:1 (A) 1:1 1
(B) 1:2 (B) 1:2
© 2:1 ©). 2:1
(D) 1:3 (D) 1:3

7. The break-even point is 20,000 units, sales 7. OHfg=T 1%_-5', 20,000 SHTE g qen fawa
are 24,000 units. The margin of safety 24,000 3HTE g et e giaea § B

expressed in percentage is :

(A) 12.5% (A) 12.5%
(B) 8.33% (B) 8.33%
C) 16.67% (C) 16.67%
(D) 20% (D) 20%

8.  Which of the following standards is not 8. fr=Hd - AT R ST & o ?

current standard ?

(A) Initial standard (A) YR Ju9
(B) Ideal standard (B) oTEl WH
(C) Expected standard (C) orifigm ya
(D) Normal standard (D) ¥ 9HY
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10.

(d)

(B)

Who has shown the law of diminishing
returns like the law of wvariable
proportions ?

(A) Modern Economists

Adam Smith

(C) Chapman
(D) J.S. Mill

Match the items of List - I with the items
of List - IT and select the correct answer :

List - I List - II
Oligopoly () Sole producer
Perfect () Pure and
competition differentiated
Monopoly (ifi) Product
differentiation

Monopolistic ~ (iv) A myth
competition
Code :

@ O © @
@) @ @ O G
® O @ @ @
© @ @) @ 0
© O @ @ @)

9.

1

0.

©
(d)

St Br@ T &l aRedeeie oruml
fram ferem samn §2

anyfen srefafer 3
e fmg 1

9T A
ERCRECE

(A)
(B)
©
(D)

[elt - 1 &1 7=l &1 gt - [ &1 961 & 91

gafed ¢ 9 9 i | @ Wl W w
= wY
el - 1 T - 11
HEMUER () ST S
ot i) foxrs wd dfga
B IGRIRIGI
THITHHR (i) =% fade
THIURRIHF  (iv) T Heq
g
T

@ (®) () (d
(A) @ (v) (@) ()
(B) ) @) @) ()
© @ (@v) @@ @
D) @ (i) G# (@)
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11.

12.

13.

Assertion (A) : 11.

The demand line (curve) slopes

downward to the right.
Reason (R) :

The amount demanded increases with a
fall in price and diminishes with a rise in
the price.

Code :

(A) Both (A) and (R) are not correct.
(B) Both (A) and (R) are correct.

(C) (A) is correct, but (R) is not correct.

(D) (R) is correct, but (A) is not correct.

Who told that utility is measurable ? 12.

(A) Marshall

(B) Pigou

(C) Keynes

(D) Adam Smith

The degree of relationship among fixed 13.

assets turnover ratio, working capital
turnover ratio and return on capital

employed can be measured by :

(A) Spearman’s rank correlation

coefficient
(B) Kendall’s coefficient of concordance
(C) Partial correlation coefficient

(D) Multiple correlation coefficient

U (A) :

i ) @ (FF) A et SR Fehl Wl
R

T (R) :

o FH B T FoREl I%g 1 7T ferh 9
oo 3Tfbsh g I HiT 9 B §

%2
(A) (A) TR (R) S T B |

C(B) (A) 3R (R) T W& 2

©) (A) T T, WY (R) T T T
(D) (R) W& &, W (A) W& 1 T

75 forem e §, T Swifitar Ao €2
(A) e

(B)

(C) wrd

(D) TueH fmy

AT qT TR TR it W et o Held
=t TeTft =Y AraT S Tl R

(A) THRET F & gday ToiE 4§
(B) Y & et YUk &
(C) Aifrh TEdaY 0Tk &
(D) g FeHa ik §
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14.

15.

ERP includes : . 14.

(a) SAP
(b) Resource Planning
Code :

(A) Both (a) and (b)
(B) Only (a)

(C)  Only (b)

(D) None of the above

Which of the following are absolute  15.

measures of dispersion ?
(a) Range

(b) Standard deviation

(c) Mean deviation

(d) Coefficient of variation

() Quartile deviation

3 (f_) Coefficient of quartile deviation

oy 100de :

@A) @ 0O @

(B) (), (d), (e) ()

© @, ®)© (9

D ©@e 0

ERP ¥ ftAferd §

(a) SAP

(b) HErA frReE
Fe

(A)  (a) R (b) <FFi
(B) I (a)

(©) T (b)

(D) SR H HE T

i § F-o w1 fewrdT % Wy °g §?

(a) YR

(b) FF foma

(c) weA formem

(d) foreRor =it oTih

OREE: CESRECKE]

(f) el forerer 1 Ui

(4) @, ®), (9, ()
B (®) @) (). O
© (@, (b)) ()
D) (© (), (o) ®
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21. An 6rgaﬁised approach for evaluating
the strengths and weakness of current or
marketing

potential competitor’s

strategies is called :

(A) Competitive rivals

(B) Competitor Analysis
(C) Target Market Analysis

(D) Competiteve barrier »

22. A statement of relationships among

marketing variables is known as :
(A) Marketing Model

(B) Hypotheses

(C) Situation Analyses

(D) Research Proposal

23.  The controllable variable a company puts
together to satisfy a target group is
called :

(A) Marketing Strategy
(B) Marketing Mix
(C) Strategic Planning

(D) Marketing Concept

1. A e e (referrer) Taeff &

aﬁwwﬁmﬁaaﬂtm?hﬂﬁw
fere wnfeq wire, = e 2

(A) wyies fedet

(B) ¥ fereciomy

(C) ey faovm fageryo
(D) wuferF sty

T < % it 3 waieif o e e
&2

(@), FHRT Hem

~ (B) wfEewm

(C) uRfeafy favergo
(D) ST e

ﬁaﬁw,tﬁmaﬁaﬁﬁlﬁwmﬁwa
e % fore e e s e &, 7 e
YA

(A) HIhfN ToFfy
(B) wehfém g
(C) i i
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24.

25.

The correct sequence for 4 A’s of
marketing are :

(A) Acceptability, Affordability,
Accessibility, Awareness

(B) Affordability,
Accessibility, Awareness

Acceptability,

(C) Awareness, Affordability,
Acceptability, Accessibility

(D) Accessibility, Awareness,
Acceptability, Affordability

“A growth firm should not pay any
dividend”. This statement is associated
with :

(a) Walter’s Model
(b) Gordon’s Model
() MM. Model

(d) Durand’s Model
Cede :

(4) (a), (0

(B) (b), ()

© ()

(D) (b), (d)

24.

25.

i 35 = A e o €
(A) Q&'@'Cé fTSTf_Q’TE%,
TR T

B) uwIe fafeed,
T, QéT?m

(@) @ﬁaq@%ﬁaﬁﬁ@@ﬁm
wREfafeat

(D) THREfafEE, w, TR,
-qq’ﬁgﬁ-ﬁq-a- T

TR fafered,

- wRRfyfadt,

“5irey R I AT Wﬁﬂﬁméﬁq”
75 oA foFad Hag 872

(a) FER FiaHM

(b) e WiTHH
(c) TH.TH. HfaHE -

(d) SIS e

(A) @), 0

®) @) ©

© ©@ |

(D) ®) @ ‘ 3
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26.  If operating expenses are 100,000 and 26, =fe wReme = 2 1,00,000 & @ik 7

Operating cycle in a year is 1.25, then IR =% 1.25 &, T refster ‘iﬁ?ﬁ
working capital will be :
RV 1,25,000 (A) % 1,25,000
(B) 2 1,00,000 (B) ¥ 1,00,000
SU© 7 80,000 (©) < 80,000
(D) None of these (D) ¥ 9 % 7

27. ‘What will be the Pogt . Fay - Back 27, af et a5 shew wer 10 o -t

.1 profitability if life period of a machine is 6 9% iz arfife 9 % 5,000 71
10 years. Pay - Back - Period 6 years and -0 HSTEFA ferat Bt 2
annual earnings is ¥ 5,000 ?
(A) % 50,000 (A) % 50,000
+7(B)* T 30,000 (B) ¥ 30,000
(C) T 20,000 (C) T 20,000
(D) ¥ 12,500 , (D) T 12,500

28. :Which is the correct equation that 28, &y ®) & & Y % o vt T g

calculates profit before tax (P). wife -
- Assume, Selling Price per unit =% G, TR Fhm gy WE=T g,
Variable Cost per unit = ¥ V, A 9 T =2 v,
Number of units sold =1 unit and total = T qe W gen - U 3% a2 &
fixed costs =Z F, feoR e =2 F.
(A) P=sv ¥ (A) P=Sv —F
® P=U@B-v)-F B) P=U@©-V)—5
© P=F-(s-v @ P=F-(-v

(D) P=s -5 (D) P=S(V—’S)

SPACE FOR ROUGH WORK / & &4 & T e

0128/ TFU-COM/ELG-II 13



29,

30.

31.

Enhancement of Job Satisfaction and
productivity are key characteristics of
which theoretical perspective of work
design 7

(A) Process improvement
(B) Techno-structural change model
(C) Job characteristics model

(D) Socio-technical systems

Which one of the foll(')wir‘ig‘ is not a
characteristic of the Job Characteristics
model ? ‘

(A) Task identity
(B) Autonomy
(C) Reward

(D) Feedback

Identify the managerial function out of
the following functions of HR Managers :

(A) Procurement
(B) Development
(C) Organising

(D) Performance Appraisal

29..

30.°

,qu&ammﬁqﬁs, % fesg
¥ frm Sgifers witdied 1 g (2

(A) viwa d o
(B) TH-TEERE ¥ IS
(C) st Ffifegy Ated

(D) Wiferd-eeFfiTe e

P 3, e R wed w1 R

e

(A) T TEEH
(B) w@rEN
(C) wiawet
(D) e

TH.3R. el ¥ e w8 ¥ yEeE
1 S IEEH iU

(A) W=
@) fawm
(€) dea Fmim

(D) forsuree Wi
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32.

33.

Laboratory Training is also known by the
name :

(A) Job instruction training

(B)  Sensitivity training
(C)  Apprenticeship training
(D)  Understudy training

Which of the following have contributed
to the share capital of NABARD ?

(@) RBI
(b) SIDBI
(c) 1IDBI
(d) IFCI
(€) Govt. of India
Code :

(A)  (a) and (b)

(B)  (a), (b) and (c)
(© (@) (c) and (e)

(D) (a) and (e)

32;
C S mErg?

33.

e wfverr & ik feg W @

(A) S v wfdtaroy
(B) WerwRiter wfveor
() foregen whrem

(D) =feneim yfireror

ﬁwﬁ@mﬁm%w%ﬁﬁ?ﬂn
feang?

(a) SRS.3TE. (RBI)
(b) Faesit (SIDBI
(c) TS (IDBI)
(d) F®HT (IFCI)
(e)  IRA THR
He

(A) (@) 3 (b)

(B) (@ ()3 ()
©) (@) () IR (e)

(D) (a) ¥ (e)

SPACE FOR ROUGH WORK / W% & & ford g
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34.

35.

Which of the following are taken as 34.

NPAs ?
(a) Doubtful assets

(b) Doubtful liabilities
(c) Substandard assets
(d) Riskful assets

(€) Loss assets

Code :

(A) (@) (© and (¢)
(B) () (9 and ()
(©) (a) (b) and ()

(D) (b), (d) and (e)

Assertion (A) : 35.

Prudential regulations over financial
institutions are the most critical input for
their success.

Reason (R) :

Prudential regulations are needed by
banks so that they are on the track.

Code :
(A) Both (A) and (R) are false.

(B) Both (A) and (R) are true.

(C) (A) is false, while (R) is true.

(D) (A) is true, but (R) is false.

fr= & 9 forThl NPAs & S foran Sian @2

() weey wefd
(b) W <E
(c) STEHME T
(d) il gefa
(e) e Hwafd
Fe

(A) (@) () 3 (e)
(B) () () 3 (e)
© (@), ()3 ()
(D) (b), (d) ¥ (e)

TR AT (A) :

ferita weensti W fademyul fra STt Soher
¥ T waifyuss e T2 B B

hIUT (R) :

foreryet fram St % fom eifveterae
s o 39 7Y W W/ |

HE :

(A) (A) e (R) T e 2

(B) (A) T (R) S & B

(©) (A).W%,-W(R)W%l
(D) (A) ¥ ¥, T (R) 319 T

SPACE FOR ROUGH WORK / T% &1e & foidl S8
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36.

37.

(@)

®

©

(d)

‘RBI

(B)

"b"'Asse'rtion (A :

All India development banks failed to

achieve their objectives,

Reason (R) :

The development banks are at present

joint stock companies like ICIC] Bank Ltd.

and IDBI Bank Ltd.

Code :

(A) Both (A) and (R) are false,

(B) Both (A) and (R) are true.

(©)  (A) is false, while (R) is true.

(D) (A) is true, but (R) is not a correct
explanation of (A).

Match the following :
List -1
WTO

List - 11
()  Provide loans to
address short-term
BoP problems.

(i) Multinational trade
negotiating body.

IMF (iii) Facilitating lending
and borrowing for
recontruction and
development.
Central bank of our

country.

IBRD  (iv)

Code :

(@) (b)
(A) (@) (@)
@ @)
© () (iv)
(D) (i) (i)

(c)
@

@
(i)
G ()
@ ()
) G

37.

(@)

(b)

©

(d)

Wwwmmﬁw

fawe @ &)

HNUT(R):

ﬁmxy%aﬁmﬁ ICICIé}sﬁ%quég

IDBléasﬁfﬁ%gaﬁwaagam

Rl §

E X

(A) (A) 791 (R) 3 oy &

(B) (A) e (R) e &

© (A) 35 &, SIS (R) 9 & |

(D) (A)W‘RT@(R) (A) F1 & =
TR

For 1 gife i .

el - 1 et - 11

SN () AT BoP T 3
FHI % oI s 3qp
g

FRASE. (i) TgUT =R j

FLTATF. (i) TR a1 g 3
T 3uR & aik 2% =)
A

TR (v) TR AW sy

SRS, BT ;

%e

@ () () (g

A) @ @) @ a5

B O @) @ @)

© @ @) @

D) @) @ @) @

SPACE FOR ROUGH WORK / & & % fag e
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38. Match the following International
Business decisions :
List -1 List - II
(a) Market Potential (i) Marketing Mix
Decision
(b) Company (i) Financing
Objectives Decision
(c) Promotion of (i) Market Selection
Business Decision
(d) Company (iv) International
Resources Business Decisions
Code :
(@ @ (© (@
@) @ 6 @ @
® O Gv @ G
© G @) 6 G
® 6 @ @) @

38.

HIT :

(a) Whe iR

(b) HF 1 K

(©) IR HeAGa

(d) FER FEEE

(b)
(i) (i)

® @O @)
©) (iv)

(D) © @@

(iv)

Frefafaa s smr FofE w1 gafer

-1

Trkfan fag fof

CLIREREND]

Hrehe = ot

AU SR

~

(d)

(iv)

(id)

(iv)

SPACE FOR ROUGH WORK / T &t & fol s°tg
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39.  Match the following events of India :

List- I

(@) The Export - Import ()
Policy

(b) Indian Rupee was (ii)
substantially devalyed

(c) The Foreign Trade (iii)
(Development and
Regulation) Act

(d) Starting of an era (iv)
of export promotion
and import restriction

| Code :
@ () (© (9
@A) @ @) @ @)
B @ @) @ @
© 0 @ @) @

D) & @ @ @

List - IT

1992

1961

2002

1966

39. W%ﬁmmaﬁﬁgﬁﬁaaﬁﬁq:

et - 1
(@) i ify (i)
(b) TR T 1 sfiges (ii)
T Ty oy

(©) oW =R (fyerg (i)
T 1) sifufey

@ (b) () (q)
@A) @ @ o @
B @) @ @ @
© 0 @ @) @

(v) (i)

D) @ @@

T - 11

1992

1961

2002

1966
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(@)

(b)

()

s

Y List-I

First 5 - Year Plan

" Match the following :

(@)

Sééond 5 - Year Plan (ii)

Third 5 - Year Plan (iii)

Code :

(@ (b)
(a) @ O
® @ O

© @ @

()

) . Fourth 5 - Year Plan (iv)

List-1I

63% of the
imports could

be paid for by

exports

89% of the
imports could
be paid for by
exports

92% of the
imports could
be paid for by

exports

60% of the

imporfs could

‘be paid for by

exports

(d)

(@v) (i)

(i) (@)

(i)

D) (v @)

(itd)

)

40.

(@)

(b)

(©)

(d)

o 01 e AR -

-I.

oY T T Al

fedra deadi A

v e A

EER eI

(@ (b

(a) @ O

® @ O
© @ O

(D) @)

()

)

(i)

(i)

(iv)

(d)

(@v) (i)

(i) @)

(i)

(i) (i)

(i
)

ST &
63% I

Y g 4fey

AR %
89% <hl

g1 =feT

o %
92% 1

Y B =T

A
60% h1

G B e

20
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41.  Maich the items of List - A with the items
of List - B,
List - A List- B
(a) FEMA Act i 1948
(b)  Minimum (i) 1999
Wage Act
(c) Industrial (i) 1969
Dispute Act
(d) MRTP Act (iv) 1947
Code :
@ () () (4
(A) @ @ @) (i)
B @ @) @ (i
© @@ @) 6 @
D) @) @) @)
42.  Match the items of List - A with the
items of List - B.
List - A List - B
(a) IMF (@ 1960
(b) IDA (i) 1945
(9 WTO (ii) 1947
(d) GATT iv) 1995
Code :
@ ®) () (@
B @ 6 @) @
B 6O @ ) @@
© @ 6 @) @
D) @ @) 6 @i

41

42,

. G- AT T R By Qg

it |
Tt - A gt - B
(@) W sfafem ) 048
(b) =T wRaf i) 1999
Ay
() ofEfm fome (i) 1969
fyfrem
(d) THRAM, (iv) 1947
At
%< :
@ () (o (9
(A) @) @ (v) ()
(B) @ @) @) (i)
© @ @) @ @)
D) @) @) @v) ()
W-A%nﬁaﬁaﬁ}-séwa‘fﬁﬂﬁ"m
SHifera |
et - A gelt- B
(a) SE.TAUE. @ 1960
(b) E.ET (i) 1945
(0 s=geln (i) 1947
d) e (iv) 1995
%< :
@ () (9 (9
(A) @) @) (v) (i)
B) @) @) ) (i)
© @ @ @) @)
D) @) @) @ ()
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43.

BIFR stands for :
(A) Board for International and

Financial Reconstruction

 (B) Board for Industrial and Financial

Reconstruction
(C) Bank for Industrial and Financial
Reconstruction
Bank for
Financial Reconstruction .

International and

(D)

43.

BIFR &1 0 &9 ¥ :

(A) FE B TR T FEAATA
ECTESEENE|

(B) ¢ BR Telgad e WEAeEd
R TeERM

©) % wR efgTe we e
[CRISENE]

(D) FE B TROIAA TS HEALAA
[ERISENE]

44. As per As - 1, which one is not the 44. As-17% UK, P Hiferes A T8
fundamental assumption ? 82
(A) Going concern (A) TET FHA
(B) Conservatism (B) EREIUETR
(C) Consistency (@) gyafd
(D) Accrual (D) TpAA
45. Match the items of List - A with the items 45. ‘{:Eﬁ‘- A T3l ﬁ‘gfr:ﬂ'- B & wEl 9 fuem
of List - B. FIFST |
List - A List - B W-A ‘FEI'T-B
(a) Decrease in working (i)  No flow of (a) FTHAFH () FEHAER
capital ‘Funds EE)
(b) Three types of (i) Source of (b) T THR Tfafafl @) S W
activities fund
(c) Writing off of (iii) Cash flow € IEl® ST (iii) THS T
discount on statement R TL sTufarfEd ICELU
issue of shares HET
(d) Issue of shares against (iv) Increase (d) AR B, I T (iv) CapMirGt fsﬁ
purchase of stock in in working ¥ yfg =& =1 T gfg
trade capital & HEAT
Code : %<
@ () © (@ @ () © (4
A @ @ @ @) (A) () @) @) @)
(B) @) @ @ @) ®) @b @) @ @)
(€ (i) Gv) & () (C) @) @(v) @ @
(D) (v) @) @) @ (D) (Gv) (i) (@) @)
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52. Match the authors to descriptional
themes of management style.

List - I List - II
(a) Herrey and (i) Task and
Blanchard relationship
orientation
(b) Rowe and (i) Concern for
Mason people;
concern
for
production

(c) Blake and Mouton (i) Decision
styles

(d) Jim Collins (iv) Level’
Code :
(@ () (© (@
(A) @ G @ @)
(B) @v) @@ @) @
© @ @) @) O
(D) () @) @) G)

53. In what order do managers typically

perform the managerial functions ?

(A) 'Organising, planning, controlling,
leading

(B) Organising, leading, planning,
controlling

(C) Planning, organising, leading,
controlling

(D) Planning, organising, controlling,
leading

52. weit St & FofrAe T H ST e

¥ gofea sifsal
-1 et - 11
(a) WEd=A=rE (i) A

Ty IHETH

(b) & T HET @) < e, SR
=t fea

(© wuddes (i) ol el

(A) @ @) @ @)
(B) Gv) @) @) @
© @ @ G O
(D) @ @& @) @)

53. sy e %9 § TeUs i wE S gidasrad
w9 Y QU HW © 2
(A) e, frieE, e, g
(B) e, e, s, =
(C) T, "ed, Age, fa

(D) e, e, e, B
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54.

55.

56.

Which one of the following is considered ~ 54.

as basic orientation

marketing ?

concept in

(A) Profit orientation
(B) Customer orientation
(C) Competition orientation

(D) Goal orientation

The product pricing decisions are based 55.

on an analysis of :
(A) Satisfaction of consumer needs
(B) Product line

(C) Weight of the product

(D) Costs of product

Point out the correct ‘“match’ from the 56.

following pairs :

(A)  Financial management : Brand equity
(B) Investment : Asset mix decision
(C) Proportion of cost : Capital gearing

(D) Cost of capital : Sales turnover

HHTE H i Y Rl e o wehew
* w9 H J@r I §?

(A) e e

(B) ek Herh

(C) %yl YEw

(D) w&F Tk

g hina fruftor fofg fres favdivg w
e ST & ?

(A) UTESH i FEYIHAT HI Gy
(B) IR @A
(C) 3 H a5

(D) 3¢9 1 AR

et Shfeel & ot <t s hiforg

(A) foxita weiEe : wie qoar
(B) st : wwafa fag frofy
(C) T o « Ysit firafin
(D) it @ : s amrerd
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57.

58.

59.

| Wthh of the following is not the capital

budgeting decision ?

(A) Addition to plant and machinery
(B) Replacement of machine tools
(C) Installation of robots

(D) Announcement of discount offers to
the distributors

What is the objective of employee

orientation programme ?

(A) Guiding employees to perform the
task satisfactorily

(B) Informing new employees with
basic information about employer

(C) Introducing new equipment to
employees

(D) Solving the problem faced by
employees

A _ in balance of payment

implies an outflow of income abroad, less
economic activity and employment at
home. (Fill in the blank)

(A) surplus
(B) deficit
(C) netloss

(D) excess

57.

58.

59.

e T S S ot 87

(A) Hg qen wei W 9fg

(B) WA Zew 1 Hfaem

(C)  TSlIel ok T

(D) foreTani =l G & TS i SO

HIER ARG FTHHH 1 S8 T §?

(A) Farse H e % ferg wmm
= ARTEYH

(B) e ST HIRI 6! freiteret o fers
¥ gfea e
(C) HTHTRY B! 7 STHTON Y SRR &

(D) FHIIRI &Y THENSH Rl GG

THAAGqeA §  HefHd
3T 1 <9 § faeit ® TR qen o <w
T o Tfafafy IR 1 ISP (TR
T W)

(A) srfus

(B)

€) YsHEd

(D) srcafash
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60.

61.

62.

An administrative system designed to
accomplish large scale administration
task by coordinating work of many
individuals is called :

(A) System approach
(B) Matrix organisation
(C) Bureaucracy

(D) Federal structure

Put premium is the compensation received

by

(A) the put option writer from the put
option buyer

(B) the put option buyer from the put
option writer

(C) the put option writer from the call
option buyer

(D) the call option writer from the put
option buyer

In “‘Management buying’ funds are
provided to enable

(A) an outside group of managers to
buy an ongoing company.
(B) the current operating management

to acquire an existing product line/
business.

(C) an outside group of managers to
buy a foreign company.

(D) an outside group of managers to
buy an investment company.

60.

61.

62.

EERLERIE N i oo iR T
% 1 FHE %GR W A 2 AT T
TS I e

(A) faew sw=
(B) g wied
(©) Tt

(D) T Hw=

fruiRa few, afaqid & st oifs
B b - [ = A i

(A) TEifa fosen o @ feffa faee
[gEeEs

(B) Truifid ferbed vrae @ Freifia fme
ohal

(C) I faehey shar & fauifm fase
SECED

(D) Taeifta fasrew et @ /= faspey
[GECED

T RT W % fou % Sue

AT S B o

(A) TSierhi % T SR T ol U ST
HEE T

(B) =AM ST Yol 1 fopeht e
SR/ FadE 3 w

(C) sierehi o e oot T bl ferewht spveett
Gilied

(D) JHYR & TH IR GHE H T
TR HEE Gle
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63. Which of the following adjustments do
you consider at the time of measuring
‘Current Cost Operating Profit’ ?

@)
(b)
(€)
(d)
(e)

Depreciation adjustment
Gearing adjustment
Fixed cost adjustment
Cost of sales adjustment
Monetary = working  capital
adjustment

(f)  Financial capital adjustment

Code :

(A) @ (), (b)

B (© @ @

© @, (A (e

D) (@), (). &
64. Which of the following factors are not
taken into consideration while measuring
human resource value of a firm applying

Lev and Schwartz Model ?

(a) Service state of each individual

(b) Probability of an individual's
leaving the organisation before
retirement

(c) Discount rate

(d) Service experience of each
individual

(¢) Each individual’s average annual
earnings upto retirement

Code :

(A) (@), ®) ()

(B) (@, (®) (d)

€ () () (d)

(D) (), () ()

63. ‘THUM TN UREe o 6 IO h T
FreAfafea o 9 T aumisHst i 9 &
HE@n?

(a) ST HHENSH

(b) Tl warcH

() Fer o waEsE

(d) fosra @G THESH

(e) e wriviicr it wHRISH -

®

E TR
(A)
(B)
©)
(D)

forirar Isht womEISH

@), (), (b)
(©), (), (e)
@), (d), (e)
(d), (e), ()

e HHEA e % A1 o wnd frefate
T § for S W d9 a1 &R Hisd
AR TR =&l fohan i ?

64.

Treh Safer 1 Ha 7L
e Frafa @ gd deen &l B @
Hfed St ATkl '

(@)
(b)

(c)
(d)

EEIR
I Al I Hal P

fraf M Tk, Tk AR A 3R
aifiieh AT

%<
(A)
(B)
©
(D)

(e)

@), (), (e)
@), (b), (d)
®), (), (d)
(), (c), (e)
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65.

Which of the following factors affect the
risk of a portfolio ?

(a)  Proportions of portfolio invested in
different securities

(b) Standard deviations of the return of
individual securities

() Mean values of the return of
individual securities

(d) Correlation coefficient between the
returns of the individual securities

(e)  Regression coefficients of the returns
of the individual securities on the
market return

Code :

(A) (@), (b), (d)

(B) (@), (b), (e)

©  ®) () @

(D) (©, @) (¢

65. 115 ¥ F-T e dwife) Sifam
JIfEe Rl &7

(a) Tom-fom aferyfeti & Frifem o
T S

(b) A giayfadt & gfawer =1 7[
Terarer

() T gfayfar & gfawer &1 e ¢

(d) wwe gfayfai & gfawe & #e
HeHaY s

(e) Wrhe Wiawa W wwe gl :
Wiawel &1 gfaTe Tone

(A) (@), (b), (d)
B) (@), ), (e)
©  ®) ©) @)

(D) (9 (d), (¢
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66.

Indicate the correct statements :

(@)

(b)

(d)

(©

A company having high business
risk may adopt a leveraged buyout
(LBO) programme.

A company having high financial
risk may adopt a LBO programme.

A company having low business

risk may adopt a LBO programme.

A company having low financial
risk and high business risk may
adopt a LBO programme.

A company having low business
risk and low financial risk may
adopt a LBO programme.

Code :

(A)

©)

(D)

(@), (b)

©, (d)

(d), ()

(©), (e)

66. ~H& FHUH i TUET

(a)

(d)

(D)

T HFHE @ el ! fase
RS (TAS.3A.) TUME &l 3T
Hehall T

I3 forciia SfEw et e, Tet. s 3l
TIITH 1 TG Tehal B |

e =g sifgy aren s,
T, o, 37, T S SO S B

=1 fa<ita <ifew den 3= 9™
SfEw ST e TS SA1. T w
ST GohaT T

o Foardia e f1 e Sifey aren
FHIAT T, o1 3T, T Tl 3791 Fohal
?

© (@)
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67.

68.

Assertion (A) :
Accounting is. the language. of business.
Reason (R) :

Accounting communicates information to
all stakeholders of business.

Code :

(A) Both (A) and (R) are true.
(B) Both (A) and (R) are false.
(C) (A) is true, while (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) :

The money market is created by a

financial relationship between suppliers

and demanders of funds which have
maturities of one year or more.

Reason (R) :

Investors may not have idle funds and the
companies depend on banks.

Code :

(A) Both (A) and {R) are true.
(B) Both (A) and (R) are false.
(C) (A) is true, while (R) is false.

(D) (A) is false, but (R) is true.

67.

68.

AR (A) :
TG, ST hi T T
T (R) :

é@lm,sqam%wﬁméﬁﬁaﬁ?ﬁmi
FIAT T

Fe
(A) (A) TN (R) I 5 €
(B) (A) T (R) SFI 37 ¥ |
(C) (A) 9 &, ofF (R) 310 B
(D) (A) 39d B, W (R) T &1

AR (A) :

S % fiehal qert AiTend & wes forta o
T {21 SSRGS Bl © fget afis
T o A1 SAferw it ¥ for Bt 2

hIOT (R) :

Trovrrdl % T SFETEE e F 919E
FHEfTT e R AR @ v B

%
(A) (A) T (R) SF TcF ¥ |

(B) (A) @ (R) M 310 ¥

(C) (A) T &, afF (R) 39T ¥

(D) (A) 38 ¥, W (R) T 1
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69.

70.

71.

72.

Understanding the financial and
non-financial returns to business and
society from marketing activities and

programmes comes under :
(A) Internal Marketing

(B) Performance Marketing
(C) Integrated Marketing
(D) Holistic Marketing

Who proposed the value chain as a tool
for identifying ways to create more
customer value ?

(A) A.H. Maslow
(B) Michael Porter
(C) KL Keller
(D) W.G. Scott

A set of procedures and sources that
managers use to obtain everyday
information about developments in the
marketing environment is called :

(A) Management Information System
(B) Sales Information System

(C) Marketing Insight

(D) Marketing Intelligence System

With which decision, the direct marketing
is primarily concerned with ?

(A) Product

(B) Price

(©) Promotion

(D) Place

69.

70.

71.

72.

HrkfeT forammardl qen Tume 9 99 a9
Wﬁﬁ?ﬁaamﬁ%ﬁﬁqqﬁm—vﬁﬁ
wAe foreen Saiq o €2

(A) T=AQ HERfeT
(B) e AreRten
(C) wHfRT Ak
(D) w& HehRfen

STk e Ted i ToA1 o Aehi ol Jg
F o @ & ®9 H I SE HOgEE
forem w@n?

(A) TT=. HEA
(B) TR U
(C) H.TA. FHel
(D) T=H S T

TOh] qo GETEFT <1 Qe TSrEent ST Arehien
qftere ¥, Yeieren, 0t fearfadi o oo  wfafer
AT TH B FA ¢, FEAI | ¢

(A) FEEA G G
(B) Torsmar g=m A
(C) HIeh{eT SRR
(D) TRRIET STRIEAT

Jee "k e TRy frofa & wne wrafhes dR
TR GUhHR T&A 8 ?

(A) AR
(B) HA
(C) HagA

(D) &
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“73. " Which of the following can be
£ marketed ?

(a) Events

(b) Experiences

(c) Persons

(d) Places

(¢) Information

(f). Ideas

Code :

(4) (@), (), (¢) and (d)
®) (), (©) (d) and ()
©) (@) () (d)and (e)
(D) All of the above

74. Which of the following can be considered
as the new marketing realities ?

(a) Customer

(b) Technology

(c) Public Relations

(d) Globalisation

(¢)  Social Responsibility
Code :

(4)  (b), (d) and (e)

(B) (a), (b), (c) and (d)
(© (), () (d) and (e)
(D) (), (d) and ()

73. T 4 9§ foraen aebfen fran <7 9o

(A)
(B)
©
(D)

&

Y
Frgvar

(@), (b), () 3R (d)
@), (©), (d) 3R (f)
@), (©), (d) ¥R (e)
IR guft

74. T 9§ T 8wkt gandar F R
foran < W 27

(@)
(b)
(©)
(d)
()

%

(A)
(B)
©)
(D)

pIEd

EIBIREd)

W Wy
SYAIHTT

HHITSh ST

(b), (d) 3R (e)
(@), (b), (c) 3R (d)
(b), (©), (d) R (e)
(©), (d) 3R (o)
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75.

76.

If the marketers combine their products 75.

with products from other companies in
various ways, it is called :

(a) Co-branding

(b) Dual Branding
(c) Brand Building
(d) Brand Equity

(e) Internal Branding
Code :

(A) () and (b)

(B) (b)and (9

(© (a) (b) and (0
(D) (@) (d) and (e)

The following are identified as five  76.

determinants of service quality in
SERVQUAL Attributes Model. Arrange

them in descending order of

importance :

(a) Assurance

(b) Responsiveness
(c) Reliability

(d) Empathy

(e) Tangibles

Code : |

(A) (9, (), (), (e), (d)
(B) (®), @) (o) (&) (d)
©) () () @) (d) (e)
(D) () (b), (a), (), (e)

Ife HE fad A O SRl % WY
furer-firer wient @ et o7 et & el
FI YA HL A IS FEAN E

(a) WH-FET
(b) I FEST
() e fafesn
(d) wiS HHa

(e) Feia ifem

(A) () 3R (b)
(B) (b) ()
© (@), (b) IR ()
(D) (9, (d) ¥R (e)

frafafea &1 g™ (SERVQUAL)
ufeeqe Aiew § Jan Ui % ure Frafni
% & § Yg=H &I S 81 TR weerquian
¥ TeE! % § Haferd Hif)

(a)  SA¥ETEA
(b)  STIfRATTH
() TasagHram

(d) dEI4fa
(e) Tfereha

(A) () () @) (), (d)
(B) (b), (a), (©), (&) (D)
© ®) ) @) @
D) (). ®) (), (d), (¢)
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77.

78.

79.

The final process of a Job Ana1y51s is the

preparatmn of two statements namely
(A) Job observation and Job description
and Job

(B)" Job ‘spjécifica'tibn

observation - -
(C) Job description and Job specification

(D) None of the above

The model that aims at measuring the
degree of each essential ability requires for
performing the job effectively is known
as : ’

(A) Common metric Questionnaire
(B) Functional Job Analysis

) Mahagement Position Description
Questionnaire

(D) Fleishman Job Analysis System

The oppoftuﬁity cost approach in human
resource accounting was introduced by :

(A) Hekiman and Jones
(B) Rensis Likert
(C). Eric G. Flamholtz

(D) William C: Pyle

77.

78.

79.

el foryersor =5 aﬁnma‘rmﬁﬁﬁw
AR EAm AT

(A) Sifa ST a9 e qo
(B) il fafaiftesntar qen e sTareiie

() mavhawawﬁmmw
(D) SRERARE T

ST R W e 3 o g
Hied, ﬁwﬁwmwﬁaﬁw
FHRREFHEAAL:

(A) W Bfesw yeamEml
(B) WepriicH® e forgeryo
() ﬁﬁﬁﬁ?ﬁﬁ?ﬁﬂ“ﬁm(

(D) el it Freren Somelt

1 IR=E e g&ga foman?

(A)  fwEEE g S

(B) Yfuw fawd
(C) T . =

(D) Tfafeaw . 5@ "
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: 80, | Tilé) -p;ro'c‘es'sv of cfeating a desirable image 80.

in the minds of the potential employees is
called : -

(A) _Employee Branding
(B) Personal Branding
(C) Employer Branding

i (D) ’R"eferralbs

81. What is meant by a ‘golden hello” ? 81.

(A) Cash lump sums offered to people
. leaving the organisation

(B) Cash lump sum promises to people
e who refer a friend

(C) Cash lump sum promises to
employees who stay on in the
organisation

(D) Cash lump sums offered to new
 recruits

e T ¥ fe & i T g

() wHE wifET
(B) =aferra wifgn

(C) T wifen

(D) YFEY

“TireeT vt o R ord £

(A) WS Sroverd fR # T Y 9
ce

(B) weft % wu H wWfiw = =l T
YT I T I

(C) ST H 5 T&7 ATt e 1 U qvd
HT AL

(D) W—Wmﬁﬁaﬁ@w%ﬁ
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82.

83.

A cbf_ripetence - building process involves :

(A) Allowing employees to think as
entrepreneurs.

(B) Guarding against complacency

(C) Allowing employees to make
mistakes without fear of
punishment and coaching them to
learn from mistakes.

(D) Creates a sense of fear while
coaching.

“ The balance of power is not vested with
any one group; rather, it is maitained
between the parties to the industrial
relations.” This is the essence of the :

(A) System approach

' (B)" " Unitary approach

(C) Social action approach

(D) Pluralist approach

82. &l Friv yehe | wfnfaq S ®

(A) HT F T F T T
g ol

(B) STeHgfE § &=l

(€) fam foreht w1 & TR ol TTerdl
H TS A AT IR AU AR
g =t e

(D) wfreror & <M W W wEg ¥e 9

83. ‘Tl sft YU &% U WK AT Wl 3
% o= 30 B fomen s 1 w0
frEe AR 7?2

(A) fo=g =
(B) T&IH T
(C) TS &wE T

(D) SEEER! T
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en workers are encouraged to meet
e relevant manager in his office and to
share their grievances, it is called :

(A) an opinion survey
(B) the gripe-box system
(C) the open-door policy

(D) the exit-interview

85. Match the item of List - I with the items
of List-1II.
List -1 List - II
(a) Cash Balance Risk (i) Human
errors and
administrative
inadequacies
(b) Credit Risk (i) Volume of
transactions

beyond capacity
of Bank

(c) Overtrading Risk (iii) Failure of counter

party

(d) Operational Risk (iv) Keeping excessive

balance in nostro
account

Code :

@ () () (9
(A) @) @) @ ()
B @ @ @) ()
© @) @ @) @
D) (v) @) @@

84.

85.

()

(b)

(d) ST f&F  (iv)

mwﬁﬁmﬁmﬁ%ﬁﬁaﬁﬁa
usfwéﬁﬁﬁmﬁwwm%m
IIfEd foran ST 8, IR BT Y

(A) W sifafyga g

(B) f< UEy-aw faey

(C) 3N-ER wifer

(D) f& wsile-g=eey

el - 1% o & el - 1% 5 ¥ @y
gAfea sifsg
G- 1

&9 30w @ (j)

el - 11
aFa sife qen

BRI EColica b e ot

wiee foen (i) SR e F AR

-3 T ATegH

sTaRefen fan (i)

FHTHTT gl &1
e T i
S

%

@ ® () (@
(A) @) @v) @ @
(B) & @ @) (v)
© @v) @ @) @)
(D) (v) (@) @) @

SPACE FOR ROUGH WORK / % &4 % forr g

1128/ TFU-COM/ ELG-II



86.

87.

The abbreviation SDR stands for : 86.

(A) Special Drawings Rights

(B) Specific Drawings Rights

(C) Special Depository Rules

(D) None of the above

Trying to protect oneself against losses  87.

due to rate

fluctuations is known as :

currency exchange

(A) Insurance
(B) Transaction Protection
(©) Coverage

(D) Hedging \

Ty SDR A1 314 ¥

(A) ¥ gifeTs TEed

(B) TEliftrer gifarg eH

(C) vva fedsied v

(D) S H &g o el

1 fafrm ot § ufted i % HR0 g SR
ST STTTeR! = i HIV FHEeT @ :

(A) fom

(B) F-37 W&

(C) HNSA

(D)

SPACE FOR ROUGH WORK / T® @& & foar&r g

40

0128/ TFU-COM/ ELC



88. Match the items in List - I with the most
appropriate items in List - I :

List - I List - 11
(a) Branding (i)  Better chance of
' product
differentiation

(b) Private Brand (ii) Better margins for
dealers

(c) Manufacturer’s (i) Better bargaining
Brand power

(d) Worldwide (iv) Maximum
Brands marketing
efficiency

Code :

@ () (© (@
(4) O @@ @) ()
(B) @) & (v) (i
© O @ @) (i
(D) @) @ @ @)

89. The transaction in which the bank receives
foreign currency from the customer and
pays him in local currency is a :

(A) Sale transaction
(B) Purchase transaction
(C) Direct transaction

(D) None of the above

88. It - I % Wl &I Tl - 11 % Hel Q4 ghfera
FIATC :
-1 TR - 1
(a) wfET () SR fava =
EESIE ey
(b) Tit sifs (i) =IREl % forw
ERURCIEE|
(c) Tafmiomral 1 (i) SER dIA-HIe ot
EIES KIES]
(@) fovaeamdt sigy () eifusem Tk
Tl

(A O @ @) @)
(B). @) @ (v) (i)
© O @ (@) (i
(D) @) @ @ )

89. U viA-od, FoeH S faeh g1 wewr s
€ 3R R 1 95 ¥ W gE e §

(A) fomra ZRM
(B) hY IFERH
(C) o ZiEeRT
(D) SR H1g ot
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90.

91.

92.

Costs relevant to make-buy decision
include variable manufacturing costs as

well as :
(A) Avoidable fixed costs
(B) Unavoidable fixed costs

(C) Factory depreciation

(D) Property taxes

Which of the following is not a reason to
erect trade barriers ?

(A) Promote import activity
Reduce reliance on foreign supplies

Protect local jobs

Encourage local production

Which theory holds that nations should

produce those goods for which it has the
greatest relative advantage ?

(A) The theory of relative advantage
(B) The factor endowment theory
(C) The theory of absolute advantage

(D) None of the above

90.

91.

92.

%9 Tl @ Heife @ # afimfaa
gRed=eia i awme a9 ¢

(A) e e o

(B) 3IereTsh fEeRr @rm
©

(D)

HREAT ST I
T

e # B W =R a0y Tl w
SHIROT & 7 2

(A) T foRATRTTT Sl Hag HT
fowft smyfd W frefar &9 e
T Sife Sl T Al

T 3T 1 IcHiEd he

forg forardt =1 T € T Tegl 1 ST g,
1 IS HEAT =ey, foraeh fere 37en! Hew
Traferen v faeran 812

(A) wmfarer @9 fagid
(B) de sty fagia
©)

(D)

T oy fasia
IR H FE oft 7
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93.

94.

Which of the following is not considered
as ‘property” under the head “Income
from other sources” as per the Income Tax
Act :

(A) Archaeological collections
(B) Sculptures
(©) Any work of art

(D) Gifts

What is the income from other sources for
an assessee who has provided the
following information for the
AY 2016 - 17 ?

(@) Gift received from Indian friends
X 38,000 and from NRI Friend
< 70,000

(b) Won a lottery for ¥ 1,50,000 and

received from race winning

< 35,000

(c)  Received ¥ 2,00,000 as gift for own
marriage

Code :

(A) T 2,58,000
(B) T 2,29,000
(©) ¥ 3,08,000

(D) % 1,58,000

93.

94.

AR fYfEm & oI ER 3 &l 9
e 3T @ e B 9 T ot v &
Siarta ‘gmfe’ & w9 § foem =@ fa s
7?2

(A) EAIE® HARM

(B) fae

(C) e Ffd

(D) SUR

Terslt shagTan & fore o= =il § 1 =/ g
e qeuis a6 2016 - 17 & foq fe
feraor g foman &2

(a) WRdT | ¥ 9 SUER T 38,000
a2 NRI €9ifer=i 9 T 70,000

(b) @ | 9w % 1,50,000 A W R
% 35,000

(c) 31Ut foreme | 9w STRR T 2,00,000

%<

(A) < 2,558,000
(B) ¥ 2,29,000
(C) X 3,08,000

(D) % 1,58,000
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95.

96.

Given the following details, what shall be 95.

the annual value of the house as per A.Y.
2016 - 17 ?

(d) Municipal value ¥ 1,50,000

(b) Fair rent ¥ 1,80,000

(c) Standard rent ¥ 1,60,000

(d) Actual rent/month X 20,000

() Municipal tax paid by the owner
20% of M.V.

(f) Unrealised rent ¥ 40,000

(g) Conditions of rule 4 and satisfied
Code :

(A) ¥1,70,000

(B) ¥ 2,10,000

(©) ¥ 2,00,000

(D) None of these

What is the taxable income of an 96.

individual who provides the following
information for the Assessment Year

(A.Y.) 2016 - 17 ?

(@) Income from house property :

(=) ¥ 15,000

(b) Short-term capital gain : ¥ 2,15,000

() Long-term capital gain
(—) ¥ 65,000

(d) Income from other sources :
T 23,000

Code :

(A) ¥ 2,23,000
(B) ¥ 2,38,000
(©) % 1,58,000
(D) None of these

e el & TR qeais a9 2016 - 1)
% fere e 1 aiftfe g feran 2rm 2

(a) HfFfE9e g T 1,50,000

(b) W = T 1,80,000

(¢) TeE = T 1,60,000

(d) ufa = arafasw = % 20,000

() TffETet =l fean /& S MLV. %1209

(f) wREI T T 40,000

(g) TFm-4 F ¥l = STo=mRn T
ETE:

(A) ¥ 1,70,000

(B) ¥ 2,10,000

(C) ¥ 2,00,000

(D) T § = T

qeaia a9 2016 - 17 % foaq fsem e
YIAIE YR i § I HL AF S 0B

(a) ST Hufd ¥ 3 : (—) T 15,000

(b) SRS Yt @fed : T 2,15,000
(c) Ereepreti st @fs : (—) R 65,000

(d) = @[l ¥ 9 : T 23,000

(A) ¥ 2,23,000
(B) ¥ 2,38,000
(C) T 1,58,000
(D) T ¥ &E 6
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97.

98.

Which of the following sections does not
entitle individual assessees to claim
deduction from Gross Total Income ?
(A) 80 CCC

(B) 80LA

(C) 80D

(D) 80E

Under which of the following section(s)
are the companies entitled to get
deductions from the Gross Total

Income ?
(a) Sec. 80 GGB
(b) Sec.801-A
() Sec. 80 RRB
(d) Sec. 80 DDB
Code :

(A) (a) and (c)
(B) (a) and (d)
(©) (a) and (b)

(D) (¢) and (d)

97. = ¥ Q4 =F 9@y fedht Fem o 9w

98.

T 3 | fegwm =1 oy & Sa?

(A) 80 CCC
(B) 80 LA
(C) 80D

(D) 80E

mw%mmﬁﬁwwm
Y feeswmm F U §2

(@) Sec. 80 GGB
(b) Sec.801-A
(c) Sec. 80 RRB
(d) Sec. 80 DDB
Code :

(A) (2 3 (o)
(B (a) 3 (d)
©) (a) 3 (b)
(D) () 3R (@)

SPACE FOR ROUGH WORK / T® &1 & fort smig

0128/ TFU-COM/ ELG-II



99.

100.

Match the following in the context of
Indian Income Tax Act, 1961.

List -1 List - II
(@) Sec.3 (i) Income
(b) Sec.2(9) (i) Previous year

() Sec. 2 (24) (iii) Assessment year

(d) Sec. 2 (1A) (iv) Agricultural

income
Code :

@ () (o (d)
(a) @ @
(B) (i)
© @ @@ 6
D) W)

Sec. 80U of the Income Tax Act allows
deductions for ‘disability’” and “Severe
disability” at % ____ and
4 _____, respectively.

(A) 75,000 and ¥ 1,25,000
(B) % 50,000 and % 75,000
(C) % 50,000 and 65,000

(D) Z 25,000 and ¥ 35,000

~-00o0-

99.

100.

O ST IfufaH, 1961 % ded -

frefafen =t faerg)

g - 1 gt - 1
(@) Sec.3 G o
(b) Sec. 2 (9) (i) 9o =
(c) Sec.2 (24) (iii) AR Y
(d) Sec. 2 (1A) (iv) Y T
<< :

@@ (b) (o (d)
(a) @ @ @) (@)
B G @) @ @)
© @) @@ @ @)
(D) Gv) () (@) @

maqfaﬁmﬁamsou‘m'm
‘gee S’ W owHE: T qe
T feewm o erdfa @ R

(A) 75,000 R ¥ 1,25,000
(B) ¥ 50,000 3R T 75,000
(C) 50,000 3 T 65,000

(D) ¥ 25,000 3R T 35,000

-00o0-
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1.  This Question Booklet contains 100 questions. Fach question carries 2 marks. Answer

questions.
2.  Indicate your answers on the OMR Answer-Sheet provided.
3.  No negative marking will be done.
4.  Use of any type of calculator or log table and mobile phone is prohibited.
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